{ w=g-dx
dw = d(g-dx) =rotg-dS

d(dw) =0 = d(rotg-dS) =div(rotg)dV =20
div (rotg) =0 (26)

2 oL P T,
rot (grad f) =0 (27)

Uk, ddw)=0 XY, 3%5T, 2IET rot(gradf) =0 ( 2IRILTIEFALT— 0) &
div (rot g) = 0 57,

(2) —RIbSNIZH D E D DR

| RO D AR,
f9)' =f'g+fg
b b
f £(0)g () dx + f F(0)g @) dx = [F()g ()1

ThHD,
— it b e, XKQD)T w=ww, & L TEH2) ZHE->T,

{ d(wiw,) = (dw)w, + (—1)P w;(dw,) (23)
),

(dwy)w, + (_1)pf w1 (dw,) :L wW1W3 (28)
D D

NEOND, ZZT, DIFfEE, oD X DZEHTEMNTH D,
K 28) 1T b SN =55y D AKX TH D,
7ok, EX@)T w,=1 &T5L,

f dw1 =j (1)1

D oD

LRy, ZHITIEENTEA R ZAOETH D,
LLUTFIZ, 3T, 2 RILDEHE O3 D BARB] 2 -7,

(3) 3WILZEF TOERSFES DIAE

-1 j]j (grad f) - g dv + fﬂ flaivg)av =  1g-as (29)
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(RERA)
FL DR 5T BEEUZ SN T,

wy=f D0 R
w, = g -dS = g,dx,dx; + g,dx;dx; + g;dx,dx, 2 2 WAy =

ELT, AKX ##EAT D, w T 0 kigs=Nd x,

jD (dw1)w2+jD w1 (dw,) =j W1 W3

oD
LR
of of of

dw1 = 6_9c1dx1 +a—xzdx2 +E
of af

of
(dwy)w, = <6_xl dx; + a—xzdxz + 6_x3dx3> (g1dx,dxs + g,dx;dx; + gsdx;dx,)

_(9f of of B
= (a—xl!h + Egz + a—x3g3> dx,dx,dx; = (grad f) - g dV

dxs

(091 091 091
de = <a—x1 dxl + a—xzdxz + a—x3dX3> dxde3

P P P
+ <a_x1 dx1 + a_xzdxz + a_x3dX3> dx3dx1

093 093 093 )

+ (a_x1 dxl + a_xzde + a_x3dx3 dxldxz
= (divg) dV

w;(dw,) = f(div g) dV

LEBo>T, ARG BEONE, dgdyy = dx Ady; IBAMEOFHETH 5,
ek, ZTOANZ, f=1 32TV RAOEHRTH S,

(3-2) ﬂv (rotf)-ng—ﬂVf-(rotg)dV=faV(f><g)-dS (30)

(RERA)
F DR ST BEEUZ SN T,

w, = fXg=C(f93—f392,f391 — [193, 1192 — 291 ) D0 Ry KD~ 7 hv
:(h1'h2'h3):h
(1)2 = ds = (dxde3 ,dX3dx1 ,dxldxz) . 2 Ykﬁﬁﬁﬁj\ﬁ@/\\‘& }\/I/
LT, A EHEHT D, w, w, 1IX7 M THD, fxg=h LV,
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